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Expressions & Operations

___ 1. What is the simplest form of __3. What is the simplest form of
2x +2 V124427 4475 2
?
xP-1"
A —— A 243
x+1i
9 | B 32
B +1
¥ c 1043
]
¢ x—1 D 114
2
D x—1 ___4. Which statement is the simplest
formof  $16x%y°
2. Which of the following is equivalent 3
1 3 F 2%yt
_+.....
x ¥
to 3 27 G 2x2y3
_+_
* 3
H 4x2y“
3x+y
1 B 13
2x+3y J 16ixtyd
3x+2
G Y
2x+3y
23
. __.5. Which is equivalent to (l ) ?
H —2
2x+3y A -1
J 1 B 1
c 1
D —1
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6. TEQ: Which is eguivalent to: 10, What is the simplest form of

(7-4)(5=2i) » 2354+ 3316 -

Put answer in the box.

F 570

G 1232

Ho 1243
___T7. Which is a factored form of J 5 {[2‘

3x2-5x+27

A (3x-2)(x+1
( 1) 11. Which is a factored form of
B (3x-1}{x+2) Bax® + 17
C (3x-2)(x-1) A (4x+1)3
D (Gxrl)x2) B (4x+1)(16x + dx + 1)

C (4x+1)(16x° - 4x + 1)
8. Which is a factored form of 2
- D (4x+1)(16x" —4x ~ 1)
125x° — 45x ?

F 5x(5x+3)(5x-3) . )
12. Which of the following could be the
G 5(25x+3)(5x-3x) .
length of the side of a rectangle whose
H Sx(5x-3)(5x-3
X(5x-3)(5x-3) area measures d° + 3d - 187
J 5x(5x+3)(5x+3)

F d+6
G d+3
__9. Which expression represents this
H d-18
x+5 . xt -4 J d+1
product 2x+4 x+5
A x-2 13. TEQ: What is the simplest form of
2
3(4+8i)~-2(-3+12i) 7
x+2 Put your answer in the box.
B
2
c x+5
2(5+x)
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14, Which is equivalent to

3x2—~6x—24___x+2 )
144-9x" " x+4 '

-1
-1/2
-1/3

~ I G ™

1/3

15, Which of the following represents I

k1
i

A

B i24

c i37
D l-47

—_16. Which statement is equivalent to

__6n+3

9n ?

F n+1
G n-1
H 7n+1
J 7n-1
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Equations & inequalities

i v ___A4. Abrick falls from the top of a tall

_ i A1 B huilding. The distance, in feet,
T between the brick and the ground
//z)-i ¢t seconds after it falls is given by
N A e d = —~16t% ~ 4¢ + 446. How long after
R z;—;/} the brick falls is it 390 feet from
the ground?
o
F *Z-sec
Which is most likely the solution set G 9 sec
for the system shown above? 4
H 2sec
A {0, 0 ‘ J 3 sec
B (2.1,2.1), (T2.1, "2.1)
C (2.1, 72.1), (2.1, 2.} ___5. What is the solution set for
D {(2.1, 2.1, (0, M), (72.1, 2.1} % = 3x + 47
——2- Which graph represents the solution A {71,4)
to |x| < 1? B (1, 4
F i e e C {1,4)
-3 -2 -1 0 1 2 3 .
D { 31‘21,\/'7}
Ot —— @@ ————
-3 -2 -1 0 1 2 3
—.5. What is the solution set for
-3 -2 -1 0 1 2 3
o F {u\/é}
J ; i & ?— 2 3
-3 -2 -1 0
G {"u\/é}
___3. What is the solution te H { 112;‘}
[4x + 1| = 3?
| J { liZi}
A x= lorx= % :
. . 2y ~ 1 x
- 1 7. What is the solution to =5— = %7
B 1< x<3 —_— uiion to =y 5
C "l=x 5% A x= _%
Dx<*1orx>—%- B ng;
x=§
=3
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____8. What is the solution set for
25x2 — 100 = 07

F

G
H
J

(2}
{4}
{-2, 2)
{—4, 4}

9. Which of the following equations are
you solving if

x

e I o B = =

_ 76 V(6)2-4(3)(D),
- 2(73) )
~3x2 -~ 6x+T7=0

~3x% + 6x +7=0
32 +6x+7=0
—83x2 +6x—7=0

___10. Which of the following represents
the solution to |2x — 1| = x?

“m oo

11.

-1
*=3
x =10
x=1

x:%orx=1

S

) B

~6—=5-4-3-2~1 0 1 2 3 4 35 6

Which inequality best describes the
solution set shown above?

A
B
C

e — 1| > 1
x +1] = 2
|22 — 3] > 1
ldx — 6| = 2
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12.

13.

14,

‘What is the solution set for
2% - 2% — 2 =07

{2
» (4%
- {4

» (30

What is the solution set for
x2—1=0?

F {1)

G (7}

H {71, 1

J {71

What is the solution set for
Vx+86=x?

A {0}

B (8

Cc 8,77

D (78, 7]



—__15. What is the solution set for

the equation below?

X X 1
+ — =
x-1 2 1-x
A {-1}
B {2}
c {0,2}
B {1,2}

16. Which of the following statements

describes the solutions for the

equation 9x2 —12x+4=07?
F Ail real numbers

G Two distinct real solutions

H Oniy one distinct real solution

J  Two complex solutions
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17.

TEQ: Solve the following

system of equations:

y=x’—6x

L,
=—x"-9
d 4

Select all of the following
points that are solutions to this
system by selecting each point.
{You just check each one that is

a solution)

(0,6)
6,00 -
(7,7)
2 r '8) ¥
('20' 8)







Functions

—1. Which best represents the graph of —3. Which best represents the graph of

y:éx+2? y=x%—- 2% + 2

A Ty
L A ¥
Fa | u
I p— ! .77,47V i I -
et P X R 7 =Y S U N
t Z
f 1 | '
B , EEEEE 2 3E:X
Y ARE ‘ -3 T
s e
‘2N
B y
A i
C i £ [
5 i N
O x _— ?‘.. .
3 7. D 53 a4 |
i . L
"—C
-3 ]
D R _ sl
) ;i? 3
i t O x C Y
T \ . [f ]
ol
2. What are the zeroes of j‘:‘?.: -2 - 1.2 3 4 : *

flx) = (x — B)x — 3w + 2)? o] -

F 0,5,3 and —2 EEREMN
G 0,75, 3, and 2
H 1,5 3,and 2 D y
) _

— — Lo Do
1, 75, 73, and 2 b tal
L 13
2
"4-3 "'tJ_ 3‘;. X
RN/ ANEAY
i i_ N Y
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. If flx) = ~x% + 6x — 5, what is f(2)?

F 53
G 11
H

J 1

. If fx) = L and g) = 2%, which of

the following expressions represents

flg(x))?

1
(x + 1)2

1
x4+ 1
p
+1

A

——4—2 24 6

Which most likely represents the
equation of the graph above?

F y=x—-4)+3

G y=|x—4|+3

H y=|x-3]+4

J y=|x+4] -3
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a1

s

5]

[ = R ]

The graph of flx) is shown above.
What is the solution set for flx) = 07

A {0}
B {1}
¢ (72,2
D (73,3}
3 Y
]
X
—4=3 {1 {0

l
B -k

L

What are the x-intercepts of the
graph of the polynomial shown
above? :

F "13and0
G "25andl1
H "2and0
Jd Oandl

Ifﬂx)zx—2mdg(x)=xg5,

which of the following expressions

represents g(flx))?

A




___10. Which of the following best i2.

11.

x% + 2x

represents the graph of y = 2 + 2)°

F

; 1
oL
—3—2 X
d T
P >
G 7}.’
F
- L
OlL+~T Ix
Pl b
H y
O 4|
~3 e X
) 1
Palll
3
F N
O X
t
13.
].’
ST
N
5
4
N
y
2
10 P

1234567

Which most likely represents the
equation of the graph above?

A

B
C
D

y = (x— 3¥ +1
y={x—-12-3
y=(—1)¥%+3
y=@—-38~*~1
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Which is the inverse of flx) = %—“ﬁ?

ey — o
f7w =5y

A

B flx)= —7x + 56
C f loy=7-9

D i) =9+ 7

}1’

N

N

-1
d

e

e}
e

\

The graph of fix) is shown above.
How many real solutions are there

to flx) = 0?

F 0
G 1
H 2
J 3

5
4
3!

754\3}&—11“1W5 x

< 1 :

. .34 .

-4+
=54

The graph of flx) is shown above.
What is the solution set for fix) = 07
{2.5)

{73, 3}

{73, 0, 3}

{74, 72, 2,4} -

o aw e



.

__ /1. Which best represents the graph of - 3
= ix ? 2
y = |x| 1/
. L X

N e

[

What are the x-intercepts of the
graph of the polynomial shown

G
above?

F 713and0
G 25andt1l

J»’
X
]
o4
74
H 2and?
H
Y J Oandl
) _
X

/7" Which polynomial has zeros at 1, 2,
and 4?

¥
J y A (x+ D+ 2)x+4)=0
B x2—3x+2=0

C 23— 72+ 14x - 8=0
D 23— Tx2 - 10x+8=0

r

- N Wwauwn
L s

S4-3-n 1 A3 das [ ¥
; 2T Y
-3+

-4+
St

What are the linear factors of the
polynomial shown on the graph?
A x—-landx + 1

B x—2andx + 2

C x,x—landx +1

D x,x—2andx+ 2



Statistics

1. The Fibonacci Sequence is
shown below.

1,1,2,3,5,8,13, ...

What is the ninth term in
the seqguence?

A 14

B 18
c 19
D 34

2. What is the sum of the first 6 terms
of the series 2 — 6 + 18 — 54 + ...7

F 122
G 7364
H 1094
J 40

3. Which of the following series is

6
described by > (n? —'1)?

n=2
0+3+8+15+ 24+ 35
3+8+15+ 24+ 35
1+4+9+ 16+ 25 + 36
8+ 15+ 24 + 35

20 W e

4, Is the sequence arithmetic? If so,
what is the common difference?

~0.9, 13, 27, 40.8

F no

G yes, 14.1
H yes, 13.8
J ves, 13.9
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- If y varies directly with x, andx = 4

when y = 18, what is the value of x
when y = 907

A 405
B 76
Cc 20
D 9

If v varies inversely with x, and
x = 2 when y = 1, what is the value
of x when y = 10?

F 0.2
G 05
H 2
J 20

. The amount a spring will stretch S

varies direcily with the force (or
weight) F attached to the spring. If a
spring stretches (.56 inches when
11.2 pounds is atéached, sbout how
far will it stretch when 17.6 pounds
is attached?

A 0.5 in.
B 0.05 in.
C 880 in.

D 0.88 in.

8. Wind chill factor (W) varies directly
with temperature {7} and inversely
with the wind velocity (v). If k is the
constant of proportionality, which
formula represents this relationship?

A W=KkTv
B :_:kz
T
C =_{C_T_
v
kT
D W=s —



____9. Driving a piling into a harbor bottom, = 5

a pile driver sinks the piling 24 inches on 12 5
the first stroke, 18 inches on the second 7 1
stroke, and 13.5 inches on the third 7 3
stroke. If the sequence is - l
continued, how far will the piling be 3
driven down on the 5th stroke? 7 5
A 1«1— in. 2 l

2 9
B 44 in 33 27

2 1
C 6in. 37

7 19

D 5"2_ " Which function includes all the ordered pairs in the table

1
10. if a, =1+ —, then whatis a,?
n

oy
p—

A —
10
10 __13.
B —
9
¢ 2
8
3
D —
2

y=2x+1

A

B y=2x’+1
C y=3"

D

y=-3"

Look at the given scatterplot. This data
best fits what type of equation? v ds
linear :
exponential
logarithmic
quadratic

“NIam

—11. {ha table below shows the value of a certain collectible baseball card over

aight years.

Valua
Year (x) | (in dollg.zs)
3

5

)

18

29

43

51

69

QI~NIPITA|EIWIN =

Which exponential equation best represents tha data?
F oy =2.18(r5.1)’r

¥ 3
G y-= 14.8(9.53)

H y= 0.53(1.01)"
1 y=225(159)
CMS
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{4- What type of function is
y=2"+87

A Linear

B Exponential
C Cubic

D Quadratic

/5" In how many ways can 2 letters
from the word PROBLEMS be
arranged?

——

16
56
60
124

com>»

/. How many permutations can be
made using all of the letters in the
word GEMES!S ?

A 210
B 840
C 1260
D 5040



. 17. TEQ: The number of seals

| O
observed during a wildlife survey R ®
was nofmally distributed with a \‘.\\M i
mean of 73 and a standard i
deviation of 14.1. Find the o
probability that AT MOST 50 seais G @ N o
were chserved during a survey. g B c

£ 9
A
X—p TEE
a} Find the z-score 2 = oo’
o 50
o9,
o .=
5 ®-=
88
. - . =35 8
b} Find the probability using your E e B
table or your calculator. 8w o
58s 3
j= u= .
o g fia)
£02
S5 2
/ 253
/Y- TEQ: The mean of a data 233
set is 163 and the standard w585 8
deviation is 5. What percent of 85 z U
the data is between 148 and © o g
1587 EFa
PSS
25E ©
£EE=
= £ .
Eg g WM
gg®
1%, Use your standard normal bell % 8 g
curve to find the following area § 5w
. i wn
under the curve: L E S ~
Plu-o<x<20) p= %‘E .
A 68% we <
B 95% < 5 E
C 81.5% 9
D 99% z @

e A0, How many different 4-person committees can be formed from a group of six boys and four girls ?

0!

. B. 1o, C. W D. ,GiLC,
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Name s .

Algebra IT 2009 SOL

=y , 5 Which of the following Is equivalent to
1  Which number Is equivalent to (32)5 ? 72+ "80 7
A 2
B 6 A 11
c 8 ' .
B 16 B 14
C 112
Z For non-zero dehocminators, which expression
Sx - 15 B flyjﬁ
Is equivalent to ———_———__7?
9 =3 +3)
E -10 & Assuming no denominator is equal to zero,
-9 which is equivalent to the following
expression?
6 x(x = 2)(x 1)
x—-3 ‘ (v —4¥x—1)
10 x—2
H 3 F r—4
5 ¢ Ax=2)
I 353 v—4
% If v =0, which is equivalent 1o the H X
followIng expression? 2
(x—2)
] -~ 7
y+z I —4
'y X
A Y2 7 Which expression Is equivalent to §x3y% 7
X 12
A )(2},'3
g X
v 13
. B (2y2
T 3y .
=3
. C oy
p Xz
X—Z =
, 2
4 When completely factored, 252 +2x — 24 D x2y3
Is equivalent to — 8 Which expression is equivalent to 64.x2 — 84 y? ?
Foo2(x=3)(r+4) F o (8r+9v)
G 2(x+3)x—4) -
H 2x+6)x-2) G (Br-9y)

3 (23 +8
(2v ~3)x + 8) H (By+9v)(8x-9y)

3 (By+9)(8x—9)






9 What are all the reots for the equation
Jw-t4f-6=217

A
B
C
)]

10 The graph of y=3x -2 Is translated up 5 umits.

19
23
Sand 23
Sand 19

What Is the equation of the new graph?

F y=8y-2
G v=3v+3
H y=3v-7/
J v=3x45

11 Which equation bestrepresents the data
in this table?

12

13

d

vy
01
!
219
3 (19
A y=2x+41
B y=xl+1
C v=2x241
B y=v+1 :
Which Is a zero of f(¥)=6x2+5r—-67
-3
F =
2
"2
G =
3
3
"3
} 6
y=ux2 - 8r4+15

What are the x-intercepts of the graph
that represents the equation?

(0,3)and(0,5) C (-8 0)and (15, 0)

3,0)and (5, 0y LD (0, ~8)and (0, 15)

14 Given: a, = a1

Which 1s the 6th ternt of the geometric sequence

for which «, = 4 and r = 1,
-1
Y 1
) 1
H 2
1
¢ 1 3] 1

15 if y varies jointly with x and z, what is the
constant of proportionality wheny = 30,
x=4,and z=57

2
A3 c 21

3
B 3 D 24

16 Bill rode his bike to a store 5 kilometers
from his house. The table shows the
distance from the store paired with the
number of minutes after leaving the house.

Kilameters
Minl_":es from Sstore
S )
¢ 5
3 4
5 3.2
a8 2.5

Which equation best models a line of best fit
for the data?

F y="02v+45
G yv="02xv+61
H y="03v+49
}  y=-03v+64






17 For which set of data would the equation
for the curve of best fit most likely be

linear?
¥
A e A
1] L] &
L] & &
A C e
@ e @
-]
& * °
&l ax B s .4
v v
¥ ¥
A A
® ) 'n ® ®
| & ® 1]
B B D ) °
N & ®
- ®
<t P X e |
¥ Y

18 The height of an object when projected
upward can be described by the equation
h=270t-4.912, where h is heightand t is
time. The relationship between the height
of the object and the elapsed time is ----

F  an exponential function
G 2 linear function

H a3 quadratic function

I a step function

192 These are the flest thiree terms of an arlthmetic sequence,

13
2 r 4 »
What are the fourth and fifth terms of the sequence?

i

5 7 3 5
A 4r 4 c 'é'r 5
5 3 3
B 2, = =4
4 2 D 2 2

20 If f(x)=2% and g(x)="2-32% whichls f(g(v))?

X3
Fos 2x — 3yl
G (-2-3x27
H o (-2-300f

b A U

21 What is the number of turning points in the
graph of the function of x defined below?

y=2v By 7

oW
Lol (% O R S

k
22 What Is the value of é[ll ?
il 4

x

23  Which graph most accurately represents
the function f(r}=-y34+37

A an
HN

Ak oo tol el
-
3

hodowl o 0] oo

g___
|
]

.
o)

=2y
Lort AS]
&
IR IETR T ey
|







24 Which equation represents the statement 28 The width of a rectangular window is 2 feet

“z varies directly with x and inversely with y»? more than its height. if the area is 35 square
feet, what is the height?

[
F z=kxy B =24 F oft
X G 7R
) __,_k.\f . A H Sft
6 =% 3 = 1 3

25 Which Is the solution set for 242 7y 4+6 =07

29 Which value of x is a solutlon to the equation below?
A {152} ¢ {15, -2}

J2x 42 —3
B {-152} p {-15 -2) 4
A 125
B 25
26 Which graph best represents the following equation? C 50
D 70
y=|x—4]
y 30 Which Is the solution set of %.\r -5 ’= 3?
J F {16}
F 7 . ; G {16 16}
S0V gt ;
e i =X
- H {-1 11}
- : 3 {4 16}
y y 31 Which are the apparent zeros of the function shown
5 in the graph?
. v
. ] ,
RN ¥ J ': M T
2y 7
: ; ’ ]
: . f’
- N ]
\, ff
27 What Is the solution set for the following equation? o ! i ol
b 7 K] Ii - ‘? 12 3 36 g
3J/y-3=15 5 if
-3
i
34 t
A {3) b
N
41 7
s {%)
E g
c {24}
128} A 6-24 © L7/
_2' 4 D 2’ 4

B






32 When y = 0, what is the solution set for
r—-4 .r—-3?

33 What is the solution set to 2v2 + 5y - 3=07

f [3a) e ale [sghe (5]

34 What are ali the roots for the eguation
|20 —-9|=57?

F -2and-7 H 2and-7
G ~Zand7 J 2and7?

35 What are the coocrdinates of the vertex of the
graphof y+5=(x-2)27

A L% B 29 c -3% B (-2-9

=" A polynomial function has a zero at x = 6.
Which expression must be a factor of the
polynomial?

F v-36 H 1+6
G 1v-6 3 y436

37

The graph below is an example of
which type of funetion?

Y

Linear
Polynomial

Exponential

O 0 " »

Logarithmic

38 A polynomiat functlon, #(x), is graphed as foliows.

(Au ¥

] 4 ]

\ {

\ /

IR /
ARER EnnN)
T 4 '\'1 _-‘.; | 201

NN
L
K’

What is the apparent solution set for P(x} = 0?

F :’2,2} G :4,0}H ‘?O,ZI-J .{—4]“

39 What are the x-intercepts for the graph of
y=x2+5%-6?

A (D Lyand{Q, -6) C (0 -Dand (0 8)
B (L Oyand{-6,0) & (-1, 0)and (6, 0

40 The graph of which function appears to have
2 and -3 as zeros?

"
o |
18
7

N

PRV

M

b, o WS T

41 What is the tenth term in this
geometric sequence?
8.2, 1, 5, 25, 125, .....

A 78,125

B8 390825
C 1953125
0 9,765,625






42 What is the solution set for the following system
of equations?

[y 02 =2 +1
y=3-—-x

F o033 (L2} Ho1(-2,5, A2}

G (-2-5), (L4 ¥ L4 (D]

43 Which statement represents the

End Behavior of the function

. 2x-1
fx)= as x approaches
x+1
infinity?

A vy approaches infinity
B vy approaches 2
€ vy approaches 0

Dy approaches 1

44 If digits can be repeated, how many 4-digit
numbers can be made using the digits

i,3,5/7,97?

G 120
H 240

J 625

45 Mrs. Jones's Algebra class has 12 boys and
13 girls. How many choices dees she have to
form a group of 3 girls and 3 boys to compete
in a city-wide Math Contest?
A 156
8 3650
€ 62,920

D 2,265,120

46 If the mean of a set of data is 5.5 and the
Standard deviation is 2.5, what is the z-score

for a value of 67

F -.20
G .20
H .30
J -30
47
¥
< RN
b A
! ; \
;_,’ - 3 >. o X
T 1 e
\\ : a
2
NN

Which is the apparent solution set for the system of
equations shown on the graph?

A : (@ 2) (2,03 }
B (-4 0% (0, ~4)(0, 4) (4, 0) }
C 1 (-16,38), (36, -16) |

D : (_41 O)J (ml'ﬁl 3'5)1 I:U, - 4:‘; (3-61 _1-6:11 (41 U) }






48 What is the solution to the
following system of equations?

x2+y2=5
x+y=i

F{(1.-2)(1.2)}
G {(-2.1).2,1)}
H {(-1v—2)l(1|2)}
$ {(-1,2)(2,-1)}

49 Suppose the weight of year old female bears
of a certain species is normally distributed with
a mean of 66 pounds and a standard deviation
of 8 pounds. What per cent of these bears weigh
MORE than 58 pounds?
A 16%
B 25%
C 54%

D 84%

50 A normally distributed set of 968 values has a

mean of 108 and a standard deviation of 11.

Which is closest to the number of values expected to

Be ABOVE 1197
F 59
G 110

H 154

} 872






NAMEK:

DATE:

SOL Practice Test (2010): - 2
| ALGEBRA 2

Multiple Choice: [Identify the choice that best completes the statement or answers the question.

1} For non-zero denomiuators, which of the

following is equivalent ¢ M
following is equivalent to da+3ars) |
A 73

1
B ,?

@-3)
C @+5

3a-5)
b "G5y

2) What is the factored form of x* — 367 7
F(x+62)x—62)
G {x+z)(x—362)
H (x+62)°
J (62

3y Which of these is equivaient to 1 ?
A
B
c *
D *

4) Which complex number is equivaient to
7-9H—-("1+3)H?

F 6-6i
G 6-12i
H 8-o6i
JoOB- 12

5) What is the simplified form of
NCRWNFTR
A 314
L 14-/3
C 21
B 63

6) How many permutations can be
made using all of the letiers in the

word GENESIS 7

F 210
G 840
H 1260
J 5040



7) Which expression is equivalent to %/32x"y" ?

3
A 2x2y>

8) Which is equivalent to 13 — N8 7
F 4

G 13-9i
H 13+09i
Jo22

9). “Use your standard normal bell
curve to find the following area
under the curve:

Plu-o<x<20)

A 68%
B 95%
C 81.5%
D 99%

1)

11)

Which expression is equivalent to

2
Sy
~———,wherex #0 and y # 0 ?
25p°
4x° 25y
¢ =,
Sy a4x?
no& 4"23
S 28y
; axt
25y3 oo

Using a, = a;7" ™', what is the 10th term
in this geometric sequence?

0.2, 1, 5, 25, 125,..
78,125
390,625
1,953,125
9,765,625

¥ 0O m »

12) If fix) = 2x% - 7x, what is the value of

“ @

fT4)?
F 44
-4
60
92



13) Given: fix)=(x—-4) -1

14)

What is the vertex of the graph for this
function?

A

B
C
D

(74.71)
(74, 1)
(4.71)
CARY

The graph shown most accurately represents
which of the following functions?

F

-~
?

-

=2 e

wi 0 O

F fx)= —[%

1)
G f(x):(—z*
H fx)="2"
J An=2"

15}

i6)

17)

Given: §, = %K[Zal + (n— I)d]

An outdoor theater has 37 seats in the
first row, 44 seats in the second row, and
43 seats in the third row. If this pattern
continues, what is the total number of
seats in the first 10 rows?

A 120
320
505
520

The graph of a 4th-degree polynomial is
shown.

&
-

LR B

3 ¥ Y

Exactly how many real zeros does this
function have?

F ol
G 2
H 3
J 4

k]
What is the value of 2, (172 — 15) ?

Kl

2

19
36
57

@ 0 = @



18) Which of the following equations best models
the data in this table?

X ¥
-2 15
-0.5| 2
0 1
1.54 0.5
2.5( 1.5
3 {25
4 ¥
F =2 =
-(3)
G ]
y=x +1
H y- §x+2
l 2
J ye & -x+1

19) The time it takes to do a job is inversely
propertional to the number of workers. I8
workers can do a job in 6 days, then 16
waorkers can do the same job in —

A

B
C
D

1.5 days
3 days
6 days
12 days

20) What type of functionisy=2°+87?

F
G
H
J

Exponential
Quadratic
Linear

Step

21} The graph most accurately represents
which of the following functions?
Yy

[

o
7
&

4
3

A y=ix+3|+2
B y=[x-3+2
C y=|x-2|+3
D y=ix+2|+3

22) The graph of y = 4x — 11 is translated up
8 units. Which equation represents the
translated graph?

F y=4x-19
G y=12x-3
H y=I12x-11
J o y=4x-3

23) Which equation represents the statement
“r is inversely propertional to s and
directly proportional to the cube of £ ?

ke

A r=—=
5

=~}

r

x
st3

@]
N
1l

)
~
i
mli‘i‘
w



24) Which equation bes? represents the data in 28) Which graph best represents the solutions

this table? to the inequality |3x-7|<35 7
X ¥
- F oot sty
0.5 ~0.75 5-4-3-2-101t 23 45
1 0
1.5 | 0.5 G ettt
2 0-75 5-4-3-2-1 012 3 4%5
3 il H ettt
5-4-3-2-101 2 3 475
F y=Inx
] e
5-4-3-2-1 012 3 45
G y=—2-x
H y= %x2+2x-—l 29) What is the solution set for
: »\pk+64——3=_2?
J y= Al X+ | A {“28}
B {124}
25) Given fix)="3x+4 and g(x) =x+ 7, what is C {4}
the val fg(f(2)?
e value of g(/{2)) D {}
A 723
B 718
30) What is the solution set of the equation
C s v Fo2x+5=07
D 7 F {31}
G {71,3})
26) Which lists four consecutive terms of an H {1-2i 1 +2i}

arithmetic sequence?
Jo{Tt=2i, T1+20
Fo3,10,17,24

G 1,4,9,16
H 1,2,4,8 31) What is the solution to Nx—d = 5 7
J 756,10,13 A x="121
B x="71
27) What are all the reots for the equation C =29
Jw—14|-6=217 D r=129
A 19
B 23
C Sand23

D 9and 19




32) Which is the solution set for (x + 5’ =07

F {25}
G {5}

H {75}

J {75, 5}

33) What is the solution set for
A {2}

3d)
to [dx+9(> 117

F ox<75 orx)é

1
G 5«< -
x<2

H xc -%DrXDS

{
J - <x<5
7 X

Which of the following represent the solutions

35) What is the solufion set of ~/2x+7 =67

37)

36) What is the solution set of
23+ 7x+5=07

[
%
y

Which function represents this
graph?

F f(x): __8“...._ L

x+3
8
G f()()— ;ﬂ—j'
H fix)= x+l
x+3
x+1
f(x) =
J f(x) 3



38) Which graph most likely represents a function 39) Which is a zero of the function

with a zero of 5 ? Sy =+ 3)2x - (x+2)?
¥ A 3
At/ - B 0
F : / C -
{ -
Y D 2
HHHHH
2 f
i\ 7
. 40) What are the coordinates of the
4 AN vertex of the graph of the function
! 2x— 1 =y+5?
y ¥ (TL35)
E R
5 G (2,53)
G ; ' H (1,75
J (2,75
G

41} A polynomiat function has a zero at x =3.

5 Which of the following expressions must
K be one factor of the polynomial?
¥ A (-3
: ' B (x+3)
" ;‘{7 C 3x

"3 . D X

LG LS it

1L, 1

AR \

Il A 42) Where does the graph of
él"" S} =3x-58)(x+9) cross the x-axis?
J (5
1 F |z, 0] and (79, 0)
J : : 3
; £ 5
2 G |2, u] and ("3, 0)
1 3
7 ‘L X

1 - £
- H | 2, 0| ad (0
§ 3

W) RV

& _
-7
L J {

. DJ and (745, 0)




43) What is the solution set for

the equation below?

x X
+_
x—-1 2

1
1-x

A {-1}

B {2}

c {0,2}

44)

Apparently, the system of equations graphed

D {12}

-

m\aam

413
-
W
F
.
-
o s
2
L ov]

A
G oAb

\

<

v

above has -

F
G
H
J

exactly | solution
exactly 2 solutions
exactly 3 solutions

1o solutions

45) Which statement represents the

End Behavior of the function

. x—1
S{x)y= m as x approaches

infinity?
Ay approaches infinity
B y approaches 1
C y approaches (

Dy approaches -1
46) Which of the following statements

describes the solutions for the

equation Ox® —12x+4=09
F All real numbers

G Two distinct real solutions

H Only one distinct real solution

J Two complex solutions

47) What is the solution set for the following
system of equations?

xz+y2=5

x+p=1

{(1,72), (1, 2)}
102, 1,2, 1)}
{CL72), (1, 2)}
(L2, @271

c N = »



£8) if digits caunet be repeated, how many 4-digit
numbers car be made using the digits

1,3,579%?

G 120
H 240

4 625

49) Suppose the weight of year old female bears
of a certain species is normally distributed with
a mean of 66 pounds and a standard deviation
of 8 pouads. What per cent of these bears weigh
less than 38 pounds?
A 6%
B 25%
C 34%

D 45%

50) A mormally distributed set of 968 valves has a
mean of 108 and a standard deviation of 11.
Which is closest to the number of values expected to
Be ABOVE 1257
F 39
G 210
H 500

J 910G






Algebra 2 Name:

SOL Practice Test #3

Technology Enhanced Questions

A. Put your answer in the box. These are open-ended questions. Work them out and you will type
your answer into the box on your computer. For our purposes, you will just write your answer in the box.

1. The earned-run-average for a baseball pitcher varies directly with the number of earned runs and
inversely with the number of innings pitchad.

« The ERA for a pitcher allowing 45 runs in 108 innings is 3.75
e Samis a pitcher. He allowed 112 runs and had an ERA of 4.50. How many innings did he pitch?

TYPE YOUR ANSWER INTO THE BOX BELOW

2. Mrs. Jones has 15 students in her Algebra Trig class. Mrs. Smith has 22 students in her Algebra Trig
class. They want to set up a competition between the two classes. If Mrs. Jones picks a group of 4
students for her team, and Mrs. Smith picks a group of 4 students for her team, how many more choices
does Mrs, Smith have for her teams compared to Mrs, Jones?

5

3. Which of the following is equivalent to 4_+1 ?

4. In how many ways can you arrange 4 pictures on the wall if you are using all 4 pictures?

5. The following sequence is given in recursive form:

a =8
a,=2a _, +5

What is the value of the fifth term?






6. The mean of a data set is 163 and the standard deviation is 5. What percent of the data is between
148 and 1587

B. Click & Drag. These questions give you choices for your answer or answers. You must click on
each answer and drag it to the appropriate box. You must get all of them correct to get the answer
correct. For our purposes, just place the correct answers in the boxes.

2
7. What are the Vertical and Horizontal asymptotes for o(x) = 2e+4 . Click and Drag Choices,
You just choose and place in box.
x=2 x=4 x=1 x=-1
Vertical Horizontal y=0 y=2 y=1 y=-2
2x—1
8. Which represents the zero of the funciion £ (x) = ?

x+1

(0, -1) (-1,0) (/2,00 (-1/2,0) (0,%2)

Zero

C. Hi-light each correct answer. These questions also give you choices. You must click on each
correct answer and make sure you mark every answer that is correct. If you forget one, it will be
incorrect. For our purpose, just place a check beside every correct answer.

9. Indicate the intervals where the graph of
F(x) = 27 - 3x? — 12x + 20 is increasing.

PUT A CHECK BESIDE EACH CORRECT ANSWER FOR TODAY.

-0 < X < 00 —0<x<—1
~25<x<w® ~l<x <2

<x<o0 2 < x <






10. Which of the following are factors of f(x)? Choose all

that apply.
x-2 x+2
x+1 x—1

x-5 x+5

11. Identify each function with the same range as /' (x) =|x| -4

Put a check beside each function.

g(x)=x*+2x-3

hix)=x' -4
Jlx)y=2"-5
k(x) = Jx -4

m(x) = (x—4)°

12. The graph of #(x) =

1 x-intercept

2x~—1

1 y-intercept

has which of the following intercepts ? Circle all of your answers.

2 x-intercepts 2 y-intercepts  no x-intercepts no y-intercepts






